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Taping and Bracing

1

W- players are more likely than any other
tolljure their ankles. The most

common injuries among basketball players
are Inversion (tuming inward) and eversion
(turning BUEWERI) of the ankle. There are many

factors that make basketball players especially
to ankle injuries. The sharp twists, frequent
running, constant jumping, and sudden stopping
associated with
basketball put tremendous pressure on a player’s
ankle joint. The ligaments within that joint can only .
withstand so much force before tea ring. Although there are several ways that players and trainers try
to treat and prevent these injuries, there has yet to be a completely successful solution. Taping is the
traditional method used by athletic trainers to treat ankle injuries. In this method, ankle tape is simply

*Wrapped snugly around the ankle joint.

Taping can be beneficial, but it also has many drawbacks. It is criticized by athletic trainers and players
alike. Taping is not very expensive when used once, but when used throughout the season, taping
is three times more costly than bracing. This is due to the fact that tape must be reapplied for each
practice and game, causing it to become very expensive over time. Taping also loosens with physical
activity; after only ten minutes of exercise, the tape will become 50% looser. After one hour of exercise,

taping offers no significant support whatsoever.
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Bracing has proven to be more effective than taping in a number of different studies. It is also much
more cost effective throughout a season. Several types of ankle braces are available for use, ranging
from cloth lace-on braces to more rigid plastic braces. Braces decrease the range of

ankle more than taping does, and, therefore, hel
the numerous benefits of ankle braces over ankle tape

ecent research has also that more expensive shoes o
heaper shoes. The air ce S Within the expensive shoes are thou
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3. According to the passage, in which of the following ways is braci
ankle injury than taping? ing a better choice for

I. Bracing is less expensive when used over the course of a season o
II. Bracing decreases the range motion of the ankle more than taping does. o
Nl Bracing is often considered more comfortable than tape.

@ lonly \ £ lutsay
se ot\\aec ) Voec o Qo QOe €5 oS ehice s
.Iand Il only Oy e Nl N cos\c CALCDD TR Ne QU e\ Weﬁxj}

(¢) land lll only o e
+ SH T

(@) 1,1, and I

4. Which of the following statements fro
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m the passage represents an opinion, rather t

@ “Both taping and bracing are typically only used after a player has alrea_dyh '1
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e learn Latin, which is a dead language-

Some people choose to

Latin has not been spoken for over a ‘thousand years. (. A8
Nevertheless, schools in many different countries offer courses in Latin. Some aér%
help English speakers build their vocabulary, since many English words are deriv: e
is also the basis for all of the modern Romance languages. If you already know Latin, iz
jtalian and Spanish will be easier to learn. Nonetheless, if you choose to study a languaget
speaks anymore, many of the practical advantages of learning a second language arecias
means you should think carefully about which language you choose to learn.
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1. The author apparently believes that Latin is
4

(a) completely useless as a second language _
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@ useful for English speakers but no one else
@ more useful than other dead languages, such as ancient Greek

2. Based on information in paragraph 1, it can be understood that the word beneficial
which of the following word groups?

@ healthy, wholesome, nutritional
@ wise, smart, intelligent

Oadvantageous, helpful, valuable Y. aue S\ Lno Sahe NN
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(d) common, usual, customary c’gtkﬂéb o¥ro \dro™ma G Brouen
3. Based on information in the passage, i 3 1200 N
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5. According t© the author, Latin can be h
() the basis for all of the modern Romance languages
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6. As used in paragraph 2, something that is derived must

(a) come before something else
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. come from something else ) “A.\ -

@ be the same as something else

@ replace something else

nguages like Italian and Spanish wi

7. The author writes, “If you already know Latin, la
h reason to learn Latin instead of sif

learn” Assess this argument. Is this a strong enoug
Spanish first? Why or why not?
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